[ Efficiency vs vertpos |

~ 0.7

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02
0.0

al

Ratio

0.95

0.9

1072 107 1

10 0?
TP vertr (cr%)

Efficiend — DQM_V0001_R000000001__Global__mkFiti100__RECO

~ 0.05 - T T
045 o

o E i : .
Z 0.04F -+ ebeeeeensieees .
5 E . ' :
P$.035------ e CRTPEPI :
= E : : :
£ 0.08F -+ cherreedreneeees !
(7} E : : :
e S I !

L. S —
0.015F -+ rhevreesrireenes !

0,02 +++ersieemerionnennes :

0.00BF- -+ seseeeieeenenes
a

.......................

......................

.....................

Ratio

0.95

%35 =20 =10 0

m
=3
o
1)
>
(9]
<
<
9
2y
3
0
<
N

10 20 30
TP vert z (cm)

~ 0.02

R = W

1 23 475
Sim. PV z (cm)




	Contents
	Page 1


